ISHIKAWA'S ITERATIONS OF REAL LIPSCHITZ FUNCTIONS

LEI DENG AND XIE PING DING

In this paper, we consider Ishikawa's iteration scheme to compute fixed points of real Lipschitz functions. Two general convergence theorems are obtained. Our results generalise the result of Hillam.

1. INTRODUCTION

Bailey [1] gave a proof of Krasnoselski's Theorem [4] restricted to the real line. In [2], using the fact that the real line is totally ordered, Hillam established the following more general result.

THEOREM A. Let $f: [a, b] \rightarrow [a, b]$ be a function that satisfies a Lipschitz condition with constant L. Let x_1 in [a, b] be arbitrary and define $x_{n+1} = (1 - \lambda)x_n + \lambda f(x_n)$ where $\lambda = (1 + L)^{-1}$. If $\{x_n\}$ denotes the resulting sequence, then $\{x_n\}$ converges monotonically to a point z in [a, b] where f(z) = z.

In this paper, using a somewhat more sophisticated argument, we consider a Lipschitz function f which maps the closed interval [a, b] into itself, and under very general conditions, prove that Ishikawa's iteraiton scheme [3] always converges to a fixed point of f. These results improve and generalise Theorem A.

2. PRELIMINARIES

Recall that $f: [a, b] \to [a, b]$ is *L*-Lipschitz if there exists a constant $L \ge 0$ such that $|f(x) - f(y)| \le L |x - y|$ for all $x, y \in [a, b]$. Clearly, each *L*-Lipschitz function is continuous.

LEMMA 1. [5, Theorem 1]. Let f be a continuous self-mapping of [a, b]. If the iteration scheme $\{x_n\}$ converges to z, then z is a fixed point of f, where $\{x_n\}$ is defined by

(1)
$$\begin{aligned} x_1 \in [a, b], \quad x_{n+1} = \alpha_n f(y_n) + (1 - \alpha_n) x_n, \\ y_n = \beta_n f(x_n) + (1 - \beta_n) x_n, \quad n \ge 1 \end{aligned}$$

and $\{\alpha_n\}, \{\beta_n\}$ satisfy

(i)
$$0 \leq \alpha_n, \beta_n \leq 1$$
 for all n ,

Received 23 July 1991

Copyright Clearance Centre, Inc. Serial-fee code: 0004-9729/92 \$A2.00+0.00.

(ii) $\sum_{n=1}^{\infty} \alpha_n$ diverges, and (iii) $\lim_{n \to \infty} \beta_n = 0$.

LEMMA 2. [5, Theorem 10]. Let $f: [a, b] \to [a, b]$ be a L-Lipschitz function. Let $\{\alpha_n\}, \{\beta_n\}$ satisfy

- (i) $0 \leq \alpha_n, \ \beta_n \leq 1$ for all n,
- (ii) $\lim_{n\to\infty} \sup \alpha_n > 0$, and
- (iii) $\lim_{n \to \infty} \sup \beta_n < L^{-1}$.

If the sequence $\{x_n\}$ defined by (1) converges to z, then z is a fixed point of f.

PROOF: From the triangle inequality it follows that

$$egin{aligned} lpha_n \left| z - f(z)
ight| &\leqslant lpha_n \left| z - x_n
ight| + lpha_n \left| x_n - f(y_n)
ight| + lpha_n \left| f(y_n) - f(z)
ight| \ &\leqslant lpha_n \left| z - x_n
ight| + \left| x_{n+1} - x_n
ight| + lpha_n L \left| y_n - z
ight| \ &\leqslant lpha_n \left| z - x_n
ight| + \left| x_{n+1} - x_n
ight| + lpha_n eta_n L \left| f(x_n) - z
ight| \ &+ lpha_n (1 - eta_n) L \left| x_n - z
ight|. \end{aligned}$$

It follows that $\lim_{n\to\infty} \sup \alpha_n \left(1 - L \lim_{n\to\infty} \sup \beta_n\right) |z - f(z)| \leq 0$. Since $\lim_{n\to\infty} \sup \alpha_n \left(1 - L \lim_{n\to\infty} \sup \beta_n\right) > 0$, then |z - f(z)| = 0. Hence f(z) = z.

LEMMA 3. Let $f: [a, b] \to [a, b]$ be a L-Lipschitz function. The sequence $\{x_n\}$ is given by (1) with $0 \leq \alpha_n$, $\beta_n \leq 1$ for all n. If there is a fixed point z of f in the interval between x_n and x_{n+1} , and $\gamma_n = \alpha_n [1 + L + L(L-1)\beta_n] - 1$, then

$$|x_{n+1}-z| \leq \gamma_n |x_n-z|.$$

PROOF: If $x_n \leq z \leq x_{n+1}$, we have

$$\begin{aligned} x_{n+1} - z &= \alpha_n (f(y_n) - f(z)) + (1 - \alpha_n)(x_n - z) \\ &\leq \alpha_n L |y_n - z| + (1 - \alpha_n)(x_n - z) \\ &\leq \alpha_n L [1 + (L - 1)\beta_n](z - x_n) + (\alpha_n - 1)(z - x_n) \\ &= \gamma_n |x_n - z|. \end{aligned}$$

If $x_n \ge z \ge x_{n+1}$, by a similar argument, we have $z - x_{n+1} \le \gamma_n |x_n - z|$. Hence (2) holds. The proof is complete.

LEMMA 4. Let $f: [a, b] \to [a, b]$ be a L-Lipschitz function. Suppose that the sequence $\{x_n\}$ is given by (1) with $0 < \alpha_n \leq 1$, $0 \leq \beta_n < (1+L)^{-1}$ and $x_n \neq x_{n+1}$

for all n. Then x_n , x_{n+1} , x_{n+2} is monotone (that is, $x_n < x_{n+1} < x_{n+2}$ or $x_n > x_{n+1} > x_{n+2}$) if and only if $f(x_n) - x_n$ and $f(x_{n+1}) - x_{n+1}$ have the same signs.

PROOF: We first state some properties which will be useful in later developments. If $f(x_n) > x_n$, then

$$(3) f(y_n) > y_n \geqslant x_n$$

if $f(x_n) < x_n$, then

$$(4) f(y_n) < y_n \leqslant x_n.$$

Indeed, if $f(x_n) > x_n$, then $y_n = \beta_n f(x_n) + (1 - \beta_n) x_n \ge x_n$. If there is a fixed point z of f in $[x_n, y_n]$, then

$$egin{aligned} 0 < |z-x_n| \leqslant |y_n-x_n| &= eta_n \left| f(x_n) - x_n
ight| \ &\leqslant eta_n \left| f(x_n) - f(z)
ight| + eta_n \left| z - x_n
ight| \ &\leqslant eta_n (L+1) \left| z - x_n
ight| < |z-x_n| \end{aligned}$$

which is a contradiction. Thus there is no fixed point of f in $[x_n, y_n]$. It follows from $f(x_n) > x_n$ that $f(y_n) > y_n$. Hence (3) holds. If $f(x_n) < x_n$, by a similar argument, (4) holds.

Now we show that the stated condition is sufficient. Suppose that $f(x_n) - x_n$ and $f(x_{n+1}) - x_{n+1}$ have the same signs; then we must have that x_n , x_{n+1} , x_{n+2} is monotone. If $f(x_n) > x_n$ and $f(x_{n+1}) > x_{n+1}$, by (3), we have

$$f(y_n) > y_n \geqslant x_n$$
 and $f(y_{n+1}) > y_{n+1} \geqslant x_{n+1}$.

Hence

$$egin{aligned} & x_{n+1} - x_n = lpha_n(f(y_n) - x_n) > 0, \ & x_{n+2} - x_{n+1} = lpha_{n+1}(f(y_{n+1}) - x_{n+1}) > 0, \end{aligned}$$

that is, $x_n < x_{n+1} < x_{n+2}$. If $f(x_n) < x_n$ and $f(x_{n+1}) < x_{n+1}$, by a similar argument, we have $x_n > x_{n+1} > x_{n+2}$.

To see that the condition is necessary, without loss of generality, we may assume that $x_n < x_{n+1} < x_{n+2}$. Clearly, since $x_n \neq x_{n+1}$ for all n, we have $f(x_n) \neq x_n$ and $f(x_{n+1}) \neq x_{n+1}$. If $f(x_n) < x_n$ and $f(x_{n+1}) > x_{n+1}$, by (4), $f(y_n) < y_n \leq x_n$. Hence $x_{n+1} - x_n = \alpha_n(f(y_n) - x_n) < 0$; this contradicts the assumption that $x_n < x_{n+1}$. If $f(x_n) > x_n$ and $f(x_{n+1}) < x_{n+1}$, similar reasoning contradicts the assumption that $x_{n+1} < x_{n+2}$. Therefore $f(x_n) - x_n$ and $f(x_{n+1}) - x_{n+1}$ have the same signs.

DEFINITION: We say that $\{x_n\}$ switches directions at x_{n+1} if either

$$x_n < x_{n+1} > x_{n+2}$$
 or $x_n > x_{n+1} < x_{n+2}$.

By Lemma 4, we see that x_{n+1} switches direction if and only if $f(x_n)-x_n$ and $f(x_{n+1})-x_{n+1}$ have opposite signs, where $\{x_n\}$ is defined by (1) with $0 < \alpha_n \leq 1$, $0 \leq \beta_n < (1+L)^{-1}$ and $x_n \neq x_{n+1}$ for all n.

LEMMA 5. Suppose $\{x_n\}$ defined by (1) has successive switches of direction at x_{n_1+1} and x_{n_2+1} , and $0 < \alpha_n \leq 2(1+\varepsilon_n)^{-1}[1+L+L(L-1)\beta_n]^{-1}$, $0 < \varepsilon_n < 1$, $0 \leq \beta_n < (1+L)^{-1}$ and $x_n \neq x_{n+1}$ for all n. Then

- (a) x_n lies between x_{n_1} and x_{n_1+1} for $n_1+1 \leq n \leq n_2+1$;
- (b) $|x_{n_2} x_{n_2+1}| \leq (1 \varepsilon_{n_1}) |x_{n_1} x_{n_1+1}|.$

PROOF: We may suppose that $x_{n_1} < x_{n_1+1} > x_{n_1+2}$ and $x_{n_2} > x_{n_2+1} < x_{n_2+2}$. Let $m = \inf\{x : f(x) = x, x_{n_1} \le x \le x_{n_1+1}\}$. By Lemma 3, we have that $|x_{n_1+1} - m| \le \gamma_{n_1} |x_{n_1} - m|$ and $m \ge (1 + \gamma_{n_1})^{-1}(\gamma_{n_1} x_{n_1} + x_{n_1+1})$. Hence

(5)
$$x_{n_1+1} - m \leq \gamma_{n_1} (1 + \gamma_{n_1})^{-1} (x_{n_1+1} - x_{n_1}).$$

Since x_n decreases for $n_1 + 1 \leq n \leq n_2 + 1$, we have that $x_{n_2} > m$. Indeed, if $m > x_{n_2}$, then there exists $n_1 < n' < n_2$ such that $x_{n'} > m > x_{n'+1}$. Lemma 4 implies that $f(x_{n_1+1}) - x_{n_1+1}$ and $f(x_{n_1}) - x_{n_1}$ have opposite signs; $f(x_{n'+1}) - x_{n'+1}$ and $f(x_{n_1+1}) - x_{n_1+1}$ have same signs. Thus $f(x_{n'+1}) - x_{x'+1}$ and $f(x_{n_1}) - x_{n_1}$ have opposite signs. Hence f has a fixed point in the interval between $x_{n'+1}$ and x_{n_1} . On the other hand, by Lemma 3 and $x_{n_1+1} \ge x_{n'}$, we have

$$egin{aligned} m-x_{n'+1}&\leqslant\gamma_{n'}(x_{n'}-m)\ &\leqslant\gamma_{n'}(x_{n_1+1}-m)\ &\leqslant\gamma_{n'}\gamma_{n_1}(m-x_{n_1}). \end{aligned}$$

Hence $m > x_{n'+1} \ge (1 - \gamma_{n'}\gamma_{n_1})m + \gamma_{n'}\gamma_{n_1}x_{n_1} \ge x_{n_1}$. The minimality of m implies that f has no fixed point in the interval between $x_{n'+1}$ and x_{n_1} . This is a contradiction. Therefore, we have either

(i)
$$x_{n_2+1} > m > x_{n_1}$$
 or (ii) $x_{n_2} > m > x_{n_2+1}$.

By $x_{x_1+1} \ge x_{n_2}$, $0 \le \gamma_{n_2} < 1$ and Lemma 3, in either case, we have

(6)
$$x_{n_2+1} \ge \gamma_{n_1} x_{n_1} + (1-\gamma_{n_1}) m.$$

By (6), we have $x_{n_1+1} \ge x_n \ge x_{n_2+1} \ge \gamma_{n_1}x_{n_1} + (1-\gamma_{n_1})m \ge x_{n_1}$. The conclusion (a) holds.

Since $x_{n_1+1} \ge x_{n_2}$, (5) and (6) show that

$$0 < \boldsymbol{x_{n_2}} - \boldsymbol{x_{x_2+1}} \leqslant \boldsymbol{x_{n_1+1}} - [\gamma_{n_1}\boldsymbol{x_{n_1}} + (1 - \gamma_{n_1})\boldsymbol{m}] \\ = \gamma_{n_1}(\boldsymbol{x_{n_1+1}} - \boldsymbol{x_{n_1}}) + (1 - \gamma_{n_1})(\boldsymbol{x_{n_1+1}} - \boldsymbol{m}) \\ \leqslant \gamma_{n_1}(\boldsymbol{x_{n_1+1}} - \boldsymbol{x_{n_1}}) + (1 - \gamma_{n_1})\gamma_{n_1}(1 + \gamma_{n_1})^{-1}(\boldsymbol{x_{n_1+1}} - \boldsymbol{x_{n_1}}) \\ = [2 - 2(1 + \gamma_{n_1})^{-1}](\boldsymbol{x_{n_1+1}} - \boldsymbol{x_{n_1}}) \\ \leqslant (1 - \varepsilon_{n_1})(\boldsymbol{x_{n_1+1}} - \boldsymbol{x_{n_1}}).$$

The conclusion (b) is proved.

3. MAIN RESULTS

THEOREM 1. Let $f: [a, b] \to [a, b]$ be a *L*-Lipschitz function. If $0 < \varepsilon < 1$, $0 \leq \alpha_n < 2(1+\varepsilon)^{-1}[1+L+L(L-1)\beta_n]^{-1}$, and $0 \leq \beta_n < (1+L)^{-1}$ for all *n*, then the sequence $\{x_n\}$ defined by (1) converges to some point *z* which lies between x_n and x_{n+1} whenever $\{x_n\}$ switches directions at x_{n+1} . Moreover, if for all *n*,

$$0 \leq \alpha_n \leq [1 + L + L(L-1)\beta_n]^{-1},$$

then the convergence is monotone.

PROOF: (1) Suppose that $x_n \neq x_{n+1}$ for all *n*. Clearly, we have $\alpha_n > 0$ for all *n*.

If $\{x_n\}$ switches direction only finitely often then convergence follows since the sequence is eventually monotone. Suppose therefore that the sequence switches directions infinitely often at $x_{n_1+1}, x_{n_2+1}, \ldots, x_{n_k+1} \ldots$

Lemma 5 shows that for $n_k + 1 \leq n \leq n_{(k+1)} + 1$, x_n lies between x_{n_k} and $x_{n_{k+1}}$ and that

$$\left|x_{n_{(k+1)}}-x_{n_{(k+1)}+1}\right| \leq (1-\varepsilon)\left|x_{n_{k}}-x_{n_{k}+1}\right|.$$

Inductively, we see that $|x_n - x_m| \leq (1 - \varepsilon)^k (b - a)$ for n and $m > n_{(k+1)}$. So $\{x_n\}$ is a Cauchy sequence and so has limit z. Moreover, z lies between x_{n_k} and x_{n_k+1} .

(2) Suppose $x_{n_0} = x_{n_0+1}$ for some n_0 . Without loss of generality, we can assume that $\{x_n\}$ denotes

 $x_1, \ldots, x_{n_1}, x_{n_1+1}, \ldots, x_{n_2}, x_{n_2+1}, \ldots, x_{n_3}, \ldots, x_{n_k+1}, \ldots, x_{n_{(k+1)}}, \ldots,$

where $x_1 = x_2 = \ldots = x_{n_1}, x_{n_k+1} = x_{n_k+2} = \ldots = x_{n_{(k+1)}}, x_{n_k} \neq x_{n_{(k+1)}},$ $(k = 1, 2, \ldots)$. Clearly, $\{x_n\}$ converges if and only if the subsequence $\{x_{n_k}\}$ of $\{x_n\}$

0

converges. On the other hand, if $\{\alpha_n\}$ and $\{\beta_n\}$ of (1) are replaced by $\{\alpha_{n_k}\}$ and $\{\beta_{n_k}\}$, respectively, then the sequence of Ishikawa iteration defined by (1) is exactly the subsequence $\{x_{n_k}\}$ of $\{x_n\}$. It follows from (1) that $\{x_{n_k}\}$ converges. Hence $\{x_n\}$ converges.

Finally, if $0 \leq \alpha_n \leq [1 + L + L(L-1)\beta_n]^{-1}$ and $0 \leq \beta_n < (1+L)^{-1}$, then it follows from Lemma 3 and Lemma 4 that no change of direction is possible. The proof is complete.

Note that, to establish convergence, it is only necessary to assume that

$$\lim_{n \to \infty} \sup \alpha_n < 2[1 + L + L(L-1) \lim_{n \to \infty} \sup \beta_n]^{-1},$$
$$\lim_{n \to \infty} \sup \beta_n < (1+L)^{-1}.$$

By Theorem 1 and Lemma 1, we have now proved:

THEOREM 2. Let $f: [a, b] \to [a, b]$ be a L-Lipschitz function. The sequence $\{x_n\}$ defined by (1) satisfies: (i) $0 \leq \alpha_n$, $\beta_n \leq 1$ for all n, (ii) $\sum_{n=1}^{\infty} \alpha_n$ diverges, and (iii) $\lim_{n\to\infty} \beta_n = 0$. Then

- (1) if $\lim_{n\to\infty} \sup \alpha_n < 2(1+L)^{-1}$, then $\{x_n\}$ converges to a fixed point of f;
- (2) $f \alpha_n \leq [1 + L + L(L-1)\beta_n]^{-1}$ for all n, then $\{x_n\}$ converges monotonically to a fixed point of f.

REMARK 1. The special case of Theorem 2.2 for $\beta_n = 0$ generalises Theorem A. Therefore Theorem 2 improves and generalises Theorem A.

By Theorem 1 and Lemma 2, we have also proved:

THEOREM 3. Let $f: [a, b] \to [a, b]$ be a L-Lipschitz function. The sequence $\{x_n\}$ defined by (1) satisfies: (i) $0 \leq \alpha_n, \beta_n \leq 1$ for all n, (ii) $\lim_{n \to \infty} \sup \alpha_n > 0$, and (iii) $\lim_{n \to \infty} \sup \beta_n < (1+L)^{-1}$. Then

- (1) if $\limsup_{n \to \infty} \sup \alpha_n < 2[1 + L + L(L-1) \lim_{n \to \infty} \sup \beta_n]^{-1}$, then $\{x_n\}$ converges to a fixed point of f;
- (2) if $\alpha_n \leq [1 + L + L(L-1)\beta_n]^{-1}$ for all n, then $\{x_n\}$ converges monotonically to a fixed point of f.

REMARK 2. Theorem 3 improves Theorem 2 when $\lim_{n\to\infty} \sup \alpha_n > 0$.

References

 D.F. Bailey, 'Krasnoselski's theorem on the real line', Amer. Math. Monthly 81 (1974), 506-507. Lipschitz functions

- [2] B.P. Hillam, 'A generalization of Krasnoselski's theorem on the real line', Math. Mag. 48 (1975), 167-168.
- [3] S. Ishikawa, 'Fixed points by a new iteration method', Proc. Amer. Math. Soc. 44 (1974), 147-150.
- [4] M.A. Krasnoselski, 'Two remarks on the method of successive approximations', Uspehi Math. Nauk 10 (1955), 123-127.
- [5] B.E. Rhoades, 'Comments on two fixed point iteration methods', J. Math. Anal. Appl. 56 (1976), 741-750.

Department of Mathematics Chongqing Teacher's College Yongchuan 632168, Sichuan People's Republic of China Department of Mathematics Sichuan Normal University Chengdu 610066, Sichuan People's Republic of China

[7]